SR

YR29%3831HIRE
A EEAKXTHE
— MR =3 (Bf7 - 1)
BE LEE BIERE 1R
| BEDER
1.RENEE
R £ B £ 1,279,312 1,046,016 233,296
x I A & 0 3,252,906 N3,252,906
MENEESET 1,279,312 4,298,922 AN3,019.610
2.EEEE
(1) ERBE
T B B & 3,000,000 3,000,000 0
% & i if & 2,291,265,000 1,760,265,000 531,000,000
EAXMESET 2,294,265,000 1,763,265,000 531,000,000
EEEERGT 2,294,265,000 1,763,265,000 531,000,000
BESET 2,295,544 312 1,767,563,922 527,980,390
I &EOH
1REaE
T8 ) ird 1,531 1,531 0
mBBaEast 1,531 1,531 0
BEARS 1,531 1,531 0
I IERREAE DEB
118 IERRBAE
% B E & 3,000,000 3,000,000 0
= BB F i & &5 2,291,265,000 1,760,265,000 531,000,000
IBEIEMRMESET 2,294,265,000 1,763,265,000 531,000,000
(D BEEARTEANDFTLEE) (2,294,265,000 (1,763,265,000 (531,000,000)
2. —RRIERREAEE 1,277,781 4,297,391 A3,019,610
IEREAESET 2,295,242,781 1,767,562,391 527,980,390
BEMOIEKRMESS 2,295,544 .312 1,767,563,922 527,980,390




